

## PROCUREMENT MANAGEMENT OFFICE

Date: 23 December 2023 \

## **REQUEST FOR QUOTATION**

The City Government of Pasig, through the Bids and Awards Committee (BAC), intends to procure Supply and Delivery of Various Food Supplies for the Nutrition and Dietetics Section.— Pasig City Children's Hospital with an Approved Budget for the Contract (ABC) of Php 992,234.40, in accordance with Section 53.9 of the 2016 revised Implementing Rules and Regulations of Republic Act No. 9184. Please quote your best offer for the item in the table below.

The Project shall be awarded as One Project having several items that shall be awarded as one contract. Quotations received exceeding each total Cost per Item and/or the total Approved Budget for the Contract shall be rejected.

					Approved Budget		Price Offer	
Item No.	Item Description	Brand Name (PLEASE DO NOT LEAVE BLANK)	QTY	UOM	Unit Cost	Total Cost	Unit cost	Total Cost
1	Apple, medium size, fresh		150	pcs	27.00	4,050.00		
2	Lacatan, fresh 10-12 pcs./k		100	kilo	89.00	8,900.00		
3	Latundan, fresh 10-12 pcs./k		20	kilo	89.00	1,780.00		
4	Melon, fresh 1.5 k/pc		30	pcs	119.00	3,570.00		
5	Papaya, ripe, fresh		110	kilo	74.00	8,140.00		
6	Watermelon, fresh, 5-6 k/pc		22	pcs	259.00	5,698.00		
7	All Purpose Cream, 250ml/pack		20	pack	89.00	1,780.00		
8	Atchuete, sealed		1	kilo	479.00	479.00		
9	Barbecue marinade, 680-700 ml/btl		5	btl	179.00	895.00		
10	Bihon noodles, sealed		18	kilo	114.00	2,052.00		
11	Black beans (100-120g/pack)		4	pack	39.00	156.00		
12	Black pepper (Ground), Sealed		1	kilo	2,099.00	2,099.00		
13	Boullion cube, Chicken (60pcs/pack)		7	pack	399.00	2,793.00		



14	Boullion cube, Pork (60pcs/pack)		3	pack	399.00	1,197.00	
15	Bread crumbs		5	kilo	149.00	745.00	
16	Butter, Unsalted, 250g/bar		17	bars	119.00	2,023.00	
17	Canned mushroom, pieces and stems, 400-430g/can		33	can	74.00	2,442.00	
18	Canned Tuna, Flakes and Oil (420-450g/can)		50	can	142.00	7,100.00	
19	Canton noodles		6	kilo	149.00	894.00	
20	Catsup, 4k/gal		3	gal	269.00	807.00	
21	Cheese, processed, filled spread (430g)		6	bars	159.00	954.00	
22	cocoa powder, 160 g/pack		2	pack	279.00	558.00	
23	Condensed milk, 300 ml/can		3	can	79.00	237.00	
24	Cooking oil, Palm, 3.78L/gal		45	gal	499.00	22,455.00	
25	Cornstarch, 400g/box, sealed		26	box	89.00	2,314.00	
26	Crackers, soda, plain, 24 pcs/pack		33	pack	188.00	6,204.00	
27	Evaporated milk, 370-400ml/can		72	can	54.00	3,888.00	
28	Flour, All Purpose 800-1000g/box	п	37	box	144.00	5,328.00	
29	Fruit Cocktail (825-850 g)		20	can	124.00	2,480.00	
30	Glutinous rice, 25 kg/sack	-	5	sack	2,974.00	14,870.00	
31	Gulaman powder, assorted color, and flavor, 25-40g/pcs		96	pcs	34.00	3,264.00	
32	Jelly Fruit Cup, Jelly Ace Assorted (50's)		5	pack	124.00	620.00	
33	Liver spread, Reno, big can 230 g/can	,	21	can	55.00	1,155.00	
34	Lomi noodles, Fresh		3	kilo	109.00	327	
35	Lumpia Wrapper, Large		481	pcs	1.9	913.9	
36	lychees in syrup, 500-600g/can		45	can	154.00	6,930.00	
37	Mamon, plain, 12's/pack		11	pack	249.00	2,739.00	
38	Macaroni, elbow		18	kilo	109.00	1,962.00	
39	Mayonnaise, 3.5L/gal		15	gal	689.00	10,335.00	
40	Miswa		23	kilo	159.00	3,657.00	
41	Oatmeal, instant, 800-1000g/pack		30	pack	179.00	5,370.00	
42	Oyster sauce, 4.2 kg/gal		8	gal	799.00	6,392.00	
43	Palabok noodles		10	kilo	99.00	990.00	
	Pastillas 50 pcs/pack		20	pack	79.00	1,580.00	
44			l		l		1

46	Peach halves in syrup, 800-900g/can		45	can	224.00	10,080.00	
47	Peanut butter spread, 2k/tub		6	tub	549.00	3,294.00	
48	Pickled relish, 130-150g/btl		4	btl	109.00	436.00	
49	Pineapple juice (1.36L/can)		4	can	149.00	596.00	
50	Pineapple tidbits (420-460g/can)		20	can	89.00	1,780.00	
51	Polvoron, plain, sealed (20's)		22.5	pack	49.00	1,102.50	
52	Rice, Long, Whole Grain, Well-milled (25k/sack)	,	60	sack	1,799.00	107,940.00	
53	Salt, iodized, fine		10	kilo	79	790	
54	Salt, iodized, rock		15	kilo	54.00	810.00	
55	Sinigang sa miso mix (40 g)		13	pack	37.00	481.00	
56	Sinigang sa sampalok mix (40 g)		17	pack	34.00	578.00	
57	sinigang sa sampalok mix with gabi (40 g)		12	pack	34.00	408.00	
58	Sotanghon noodles		15	kilo	389.0	5,835.00	
59	Soy Sauce, 3.78L/gal		18	gal	249.00	4,482.00	
60	Spaghetti noodles, 1kg/pack		33	kilo	129.00	4,257.00	
61	Spaghetti sauce, Sweet style (1 k)		28	kilo	119.00	3,332.00	
62	Sugar, Artificial, 2g/sticks, 40 sticks/box		4	box	209.00	836	
63	Sugar, Segunda		18	kilo	129.00	2,322.00	
64	Sugar, White		13	kilo	134.00	1,742.00	
65	Tasty Bread, white		300	loaves	84.00	25,200.00	
66	Tomato paste, 150g/pack		12	pack	54.00	648.00	
67	Tomato Sauce, 1 k/pack		20	kilo	109.00	2,180.00	
68	Tomato Sauce, 200g/pack		35	pack	29.00	1,015.00	
69	Vinegar, 3.78L/gal		20	gal	209.00	4,180.00	
70	Yema (50's), sealed		26	pack	84.00	2,184.00	
71	Ampalaya		50	kilo	174.00	8,700.00	
72	Baguio beans		65	kilo	159.00	10,335.00	
73	Bell pepper, red and green		12.5	kilo	359.00	4,487.50	
74	Cabbage		110	kilo	144.00	15,840.00	
75	Calamansi		20.5	kilo	144.00	2,952.00	
76	Camote, Yellow		29	kilo	113.00	3,277.00	
77	Carrots		60	kilo	154.00	9,240.00	

						T T	
78	Cassava		29	kilo	122.00	3,538.00	
79	Cauliflower		11.75	kilo	329.00	3,865.75	
80	Corn, white, grated		19.5	kilo	119.00	2,320.50	
81	Corn, sweet, grated		28	kilo	119.00	3,332.00	
82	Cucumber		100	kilo	134.00	13,400.00	
83	Eggplant		32.5	kilo	124.00	4,030.00	
84	Garlic		39	kilo	139.00	5,421.00	
85	Gata		13	kilo	209.00	2,717.00	
86	Ginger		12	kilo	224.00	2,688.00	
87	Green peas, frozen		28	kilo	309.00	8,652.00	
88	Kangkong		18.75	kilo	94.00	1,762.50	
89	Labanos	***	50	kilo	107.00	5,350.00	
90	Langkang, hilaw		13	kilo	107.00	1,391.00	
91	miso		0.75	kilo	79.00	59.25	
92	Monggo beans		15	kilo	139.00	2,085.00	
93	Mustasa		5	kilo	94.00	470.00	
94	Okra		8	kilo	124.00	992.00	
95	Onion Red		48	kilo	159.00	7,632.00	
96	Onion White		11	kilo	159.00	1,749.00	
97	pandan leaves	4	1.75	kilo	222.00	388.5	
98	Papaya, green		50	kilo	109.00	5,450.00	
99	Patola		100	kilo	94.00	9,400.00	
100	pechay baguio	14:	3.5	kilo	119.00	416.5	
101	pechay tagalog	y - 100 y - 10	24.5	kilo	119.00	2,915.50	
102	potato		100	kilo	144.00	14,400.00	
103	puso ng saging		3	kilo	79.00	237.00	
104	saba		900	pcs	5.00	4,500.00	
105	sago, white, small, cooked		48	cup	11.00	528.00	
106	sayote		200	kilo	89.00	17,800.00	
107	sigarilyas		3	kilo	114.00	342.00	
108	sitaw		11	kilo	119.00	1,309.00	
109	spring onion	·	1	kilo	321.00	321.00	

110	squash (3k/pc)		28	pcs	94.00	2,632.00	
111	tofu	e e	11	kilo	44.00	484.00	
112	togue (mungbean sprout)		11	kilo	89.00	979.00	
			25.5	kilo	94.00	2,397.00	
113	tomato						
114	turnips		50	kilo	109.00	5,450.00	
115	Ubod, sliced		12.5	kilo	164.00	2,050.00	
116	Upo (long and young)		100	pcs	114.00	11,400.00	
117	young corn		6	kilo	259.00	1,554.00	
118	Beef, ground		20	kilo	429.00	8,580.00	
119	Pork chop		30	kilo	419.00	12,570.00	
120	Pork liver		4	kilo	349.00	1,396.00	
121	Pork Pigue		100	kilo	439.00	43,900.00	
122	Pork, Ground		20	kilo	444.00	8,880.00	
123	Chicken, breast		130	kilo	319.00	41,470.00	
124	Egg, chicken		200	tray	299.00	59,800.00	
125	Chicken whole, (1-1.3k/pc)		280	kilo	294.00	82,320.00	
126	Alamang		12	kilo	209.00	2,508.00	
127	alumahan (6 pcs./k)		80	kilo	359.00	28,720.00	
128	Bangus, pandaing, deboned		80	kilo	279.0	22,320.00	
129	cream dory		80	kilo	249.00	19,920.00	
130	galunggong (6 pcs/k)		80	kilo	289.00	23,120.00	
			80	kilo			
131	matambaka				349.00	27,920.00	
132	tilapya (6 pcs./k)		80	kilo	249.00	19,920.00	
133	tinapang durog		1	kilo	249.00	249.00	
134	Corned Beef, frozen, sealed		10	kilo	259.00	2,590.00	
135	embotido		200	pcs	18.00	3,600.00	
136	ham (15pcs./pack)		15	kilo	324.00	4,860.00	
137	Hotdog, classic, jumbo		16	kilo	249.00	3,984.00	
138	Pork longganisa, big (12pcs/k)		20	kilo	349.00	6,980.00	
139	Fruit drink, Assorted Flavor, 250ml/tetrapack,		1	boxes	139.00	139.00	
140	10 tetrapacks/box Yoghurt Drink, Assorted Flavor, 90ml/pack		50	pcs	18.00	900.00	
141	Tea bags, black (50 tea bags/box)		1	boxes	259.00	259.00	
141	iea pags, piack (50 tea pags) pox)			DONES	255.00	233.00	

142	pineapple juice, unsweetened (250ml/can)		30	can	45.00	1,350.00	
	<b>Note:</b> Other terms and conditions are stipulated in the attached Terms of Reference, if any.		To	otal	992,	234.40	
DELI	DELIVERY TERM: Within Sixty (60) calendar days upon the receipt of Notice to Proceed but not to exceed 31 December						

**DELIVERY TERM:** Within **Sixty (60)** calendar days upon the receipt of Notice to Proceed but not to exceed 31 December 2023.

\*Indicate the BRAND NAME or MANUFACTURER NAME and the specific MODEL to be offered or attach a BROCHURE for the offered item; items including but not limited to clothing, vehicle, equipment, devices, electronics, machines, drugs, medicines, medical supplies must be branded or at the very least, manufacturer shall be indicated.

Submit this Quotation (Accomplished and duly signed by the Owner or the respective Authorized Representative indicated in the Secretary's Certificate/Special Power of Attorney) not later than the closing date specified in the Bid Notice Abstract posted in PhilGEPS website along with the following documents:

- Mayor's/Business Permit (or a recently expired Mayor's/Business permit together with the official receipt as proof that the prospective bidder has applied for renewal within the period prescribed by the concerned local government unit subject to submission of the Mayor's Permit before the award of contract). The nature of business as stated in the Mayor's/Business Permit should at the very least be similar or related to the project to be bid.
- PhilGEPS Registration Number
- Income Tax Return Latest Income or Business Tax Returns filed and paid through the BIR Electronic Filing and Payment System (EFPS).

In accordance with Revenue Regulation No. 3-2005, the above-mentioned tax returns shall refer to the following:

- 1. Latest Income Tax Return (ITR) For participants already with an Annual ITR, latest ITR shall refer to the ITR for the preceding Tax Year be it on a calendar or fiscal year. For new establishments which, therefore, have no annual ITR yet, it shall refer to the most recent quarter's ITR.
- 2. Latest Business Tax Return refers to the Value Added Tax (VAT) or Percentage Tax returns covering the previous six (6) months.
- Accomplished and notarized **Omnibus Sworn Statement** (Form can be downloaded thru https://www.gppb.gov.ph/downloadable-forms/#tab-61412)
- Proof of Authorization: Secretary's Certificate if corporation, or Special Power of Attorney,
  if individual.

## ADDITIONAL REQUIREMENTS:

For Procurement of Drugs and Medicines:

Documents from the Food and Drug Administration (FDA):

- a. Certificate of Product Registration;
- b. Certificate of Good Manufacturing Practice;
- c. License to Operate;
- d. Batch Release Certificate (for vaccines, toxoids and immunoglobulins only) [to be submitted upon delivery]; and
- e. Certificate of Analysis (for anesthesia and antibiotics) [to be submitted upon delivery].

If the Supplier is not the Manufacturer, a certification from the Manufacturer that the supplier is an authorized distributor/dealer of the products/items.

Caruncho Avenue, Brgy. San Nicolas, Pasig City, Philippines 1600

(02) 8643-1111 \* (02) 8641-1111 loc 1461 \* bidsandawards@pasigcity.gov.ph \*

Page 6 of 7 | RFQ No. 100-23-12-2176 | RLD

Please submit the accomplished Quotation and required documents on or before the deadline of submission at the Bids and Awards Committee (BAC) through the Procurement Management Office (BAC) Secretariat Office), 4th Floor, Pasig City Hall, San Nicolas, Pasig City.

All documents should be submitted in a sealed brown envelope addressed to the "Bids and Awards Committee, 4th Floor, Pasig City Hall", and properly marked with the Project Title as provided herein.

The CITY GOVERNMENT OF PASIG reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.

For any clarification, you may contact us at telephone no. (02) 8641-1111 / (02) 8643-1111 loc. 1461 or email address at bidsandawards@pasigcity.gov.ph

ATTY: PONCE MIGUEL D. LOPEZ N
Officer in Charge, Procurement Management Office

I hereby certify that I have read and agree to this Request for Quotation, its Terms of Reference, and Bid Bulletin/s, if any. I further certify that the products to be delivered will conform to the specifications stated in the Item Description.

Position
(Please indicate Company Name)